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3. - 84t
9.1  MRed aRfRdd g - -———-- 71T Fotter ar Terd 9ol e,
American ecologist ---------- devided living organisms into five groups.
1. ®ers [Kopland (1938)] 2. Plet fIf=T [Carl Linnaeus (1735)]

3.30qc cglcax [Robert Whittakar (1969)] 4. 8dd [Haeckel (1966)]
9.2  AolldieR geell HRuMR fauTozar crreanelt Fefe Asiiaieft I Siiear e,

Match the pairs of viruses and the organisms they attack on

1. 999 [Human] - e RaNBeT [Bacteriophage]

2.7 [Cattle] - Jeg HISTE e fIuT0] [Tobacco mosaic virus]
3.3y [Plants] - foepI=f fIuTo] [Picorna Virus]

4. {91 [Bacteria] - eI fawTY [Influenza Virus]

.3 Wellofid! Bl deuhiy UfhaT & seafdeRNISk SUaR 18! ?

One of the following is not the treatment for heart disease.

1. 3137 W [Angioplasty] 2. §I-URT FoiRt [By-pass]
3. &SI YIRII0] [Heart transplant] 4. oo [Radiation therapy]

.4 TEGTY 3ol

Find the co-relation.
29 R @ SIRTfID &6 fo 11 14 egaR : ——— [29 September : World Heart day :: 14 November : ---]

1. SIRTf 3R f& [World Health day] 2. STTfeia g & [World blood Donation day]
3. SIATRcia SR S [World Cancer day] 4. STRTRCTes HEHE T [World Diabetes day]
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9.5

9.6

9.7

9.8

9.9

9. 10

GTeiteden! I e R st JMfdhEeT Treamered B AT 3. -84t
One of the following statements is incorrect about ‘Archemedes’.
1. 3fehfAEtsT g fieh 9ReTst @ TSt 81, [Archemedes was Greek Scientist and Mathematetian]

2. v D G ATed Preel [He found out the value of ‘7]
3. MBS < Tca g STeTol, UTUgeT el Ta-1d araRugTd .

[Archemedes principle has been used in the construction of ships and submarines]

4. IMTHHEIST AT TRacaTehN e FRIHTATST St ST

[Archemedes is known for the law’s of Gravitation]

JNTIGTRe DIVI AL T 31T o 7.
According to the graph which of the following statement is true.

1. ITATERO 16 AIGAUTCH AfTLRT BHT SR,

[Atmospheric pressure is lowest at sea level]

2. FGAUTCIIRIT ST SR 9R ST o<1 TTeR0i 19 aTeéd ST,

[As we go hiegher from sea level atmospheric pressure increases]

3. ST ST 31T0T FATe AGAUICIDS S5 O TR TATaRUIRI GTe aTed ST,

[As we go lower from hieght to sea level atmospheric pressure increases]

4. AT T
[All of the above]

fAIGRIT Tt 2Tt AT AvIRATS} B thel STTS> 9Tl 2

Toincrease the strength of electromagnet, what can be done?

1. STRIT STRAT féeRIet Bi€ ST [Connect more electric cells]
2. AR Pelldlel Aol AT dieard! [Increase the no. of turns of the coil]

S
7

~100

2000 6000 10,000
J4T [Height] m

CISIERYIEEAC]
[Atomospheric pressure]

3. TN Helelldilel dciesara Al ! erret [Reduce the no. of turns of the coil]

4. ToeIe Tl T sHt rTelt [Reduce the no. of electric cells]

1.1,2,3,4 2.2and 1

3.2and4 4.1and 3

TSB! 2V [ITaioRTe fIGTee WIeiey 1ol dexiedT HuTd Siieat 3Ted. dexid Tgur faTaiaR faudt ?

Electric cells having 2V potential difference each have been connected in the form of battery.
What will be the total potential difference.

+I =' +I =' +I =' +I ='
1.10V 2.12V
3.8V 4.6V
STIaTerTa 9 SRAUITTS ———————— T fARONART ATt SYTNT dveT ST
The radioactive isotope ------------ is used for determining the age of archeological objects.
1.C-12 2.C-13 3.C-14 4. Cobalt-60

DI 3TU[3Te T STU[ERRIHTID 3FshH 20 F 40 3R,
TR0 AT hgehld fahetl =i SR o PIal.

The atomic number and atomic mass of calcium is 20 and 40 respectively. Deduce the number of
neutrons presentin calcium nucleus.
1.10n 2.20n 3.30n 4.40n




9. 11

9.12

.13

9. 14

9. 15

9. 16

fEeelld AR TNERTT SRAUIRT A 1500 ASGT SATIeT ST AHATIRT TR del. | 3. - 8 &t
Al T SATSTE! ThachId Mg, T ATgHE ey YHTOT Wletieddh! Pl Jelged ficelel 318 ?

The iron pillarin the premises of Kutubminar in Delhi is made with alloy 1500 yrs ago.
The pillar is still lustrous. It contains small proportion of which of the following elements.

1. @18 [Carbon] 2. Rifetdi [Silicon]
3. A [Phosphorus] 4. 51T 94 [All of the above]
ASTRIA ST o101 fohaT RIS 3TTR. MMhciiel FRIETT o foeiedT AT Icck foTal.,
Three experiments to study the process of rusting are given below. r
Observe the diagram and answer the question. — air J o 7
——————— qefleT ReesT ToTd ATg! gil | Ay=dnas
The iron nail in test tube no. ---------- is not rusted. NENN) B x::z;‘ “Efﬁgf ﬂ Eﬁ%mlﬁ“@g
1. gR&TRI-1 [Test tube-1] 2. IReTes1-2 [Test tube-2] Lk I
3. qReme)-3 [Test tube-3] 4. 581 |4 [All of the above] T TR 4 T T 2 o T 3
3.9, 1948 ATeft ——————- MERTER R g GRIAT ProTos! A feaaTel 39 FTel, ATde! AT ARTSAT “BId
e’ TR 3Nl et
In 1948, ---------- was nhamed as ‘Black City’ when smoke and soot caused night like situation during day
time.
1. =gg7eh [New-York] 2. Sg=Asrt [Johansberg]
3. [London] 4. fhcas [Petersburg]
TGN ErcepTa HIFd! FEREATER HIUTT GRUITH glel! ATBRAT 31 g 8 FHTel I TS el
Match the pairs from ‘A’and ‘B’ colums & explain the effect of pollution on Human health.

‘3 [A] ‘F°['B]
1. PeTectHf3a aroft [Water containing Cobalt - a)  AfiHgea [Mental retardness]
2. f19 IR [Methane Gas] - b) IR [Paralysis]
3. 33 ff3ret uroft [Water containing Lead] - ¢) DEHHER GoT AU [Inflamation of lungs]
4. TR SRRMNEATES [Sulphur dioxide] - d) SIc IR [Irritation of eyes]

- e) AT HARNFT [Skin Cancer]

1.1-b, 2-e, 3-a, 4-d 2.1-d, 2-e, 3-a,4-b 3.1-e,2-a,3-b, 4-d 4.1-a,2-b, 3-e,4-d
TTetNep 31T § WictleTich! ShIuredT uerfd aeosd.

Tartaric acid is present in which of the following.
1. 179 [Lemon] 2. 31MaesT [Amla]

3. [Tamarind] 4,38l [Curd]

SR T STIBIRATS! Wietietidh! Iordt Al fFramTaet g ?
For the construction of tall buildings which of the following institute has made code of conduct.
1. IR §ATHMRA a9 [Indian Meteorological Department]

2. R AP AT [Indian Standard Institute]
3.?1??—%3? d<d {9 [Indian Archeological Department]
4. g1 AATEY [None of the above]

~
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9.17

9. 19

9.20

9.21

g.22

9.23

Tt DHIvI YehuTe FHROT ATE ?
Which of the following is not a cause for earth quke?

1. SITATET 39@ [Volcanic Erruption] 2. 913} &R0 [Big Dams]
3. QGMU[hTH [Mining] 4. 9gyUT [Pollution]

faeam A : Uit gTuamer gHqToT ST g USht Wiadier<aT ITuame JHT0T T 3R,

StatementA: The cell has more water than the outside medium.

I B : 3791 S0 ST(TURRIRT G907 FEUTTd.

Statement B : Itis called hypertonic solution.

1. AT 9 BR 3T [A is true B isfalse] 2. B &ATIFa! 3NTT [B & A both are false]

3.ATBTEI T [A & B botharetrue] 4. ARAT AT ATEI [Indefinite]

PIOTCT TR Yefte) Ten OrehT .
Which of the following cells does not contain Mitochondria.

1. 99 e fOTehT [W.B.C.] 2. ANfEd XFaadm it [R.B.C.]
3.3Fdafeed [Platelets] 4.293[2&3]
Wletler 3rffehad AT B 3Moevar,

Identify A& B in the given reaction.

NaOH,, — > A+B
SUSEEERSEKIES

[Sodium Hydroxide]

1.H";OH 2.Na",H’
3.Na",OH 4.H,0,Na’

¥HEd AP N ATl UTUAT faRefIhRUT hRaTT IV UG AT,
Which of the following method should be used while dissolution of conc. H,SO, in water?
1. |&d H,S0, 31fcrerd oo —g3 UTudTd et [conc. H,SO,should be added slowly to water]

2.9gd H,S0, Tl T 97T 1T [conc. H,SO,should be added directly to water]
3.58d H,S0, 7& uTuft 37dTd [Add water in the conc. H,SO,]
4. 91T 2 37TfOT 3 [option 2 & 3]

Wit DIvTd AR JeAfaRied Jivefiaed arorer SiTd.

One of the following is used as acidity resistant medicine (Antacid)

1. EEGIFAIND 3+ [HCI] 2.9 e 31T+l [H,S0,]

3. Y gRIgiaITSs [Mg(OH),] 4. AR IRHFME [KMNnO,]
SESERECICIE]]

Complete the analogy by choosing correct alternative given.

NaCl : 3TRIFYe | & ——————— : TEHS X

NaCl: loniccompound : ------------- : Covalent compound

1. H,O 2. MgCl,

3.MgO 4.NaOH

3. - 8dl

(4)
\4}




9.24

9.25

9.26

9.27

9.28

SIS CEE 3. -8
Match the following:

A B
1) R gl oK A9 [Temperature of Healthy human body] a) 296K
2) uTUTaT St fig [Boiling Point of water] b)  98.6°F
3) P& dIHT [Room Temperature] c) 0’c
4) Y1ugTn Tﬂ'o"tfrl%l'?&[Freezing point of water] d) 212°F

1.1-d,2-c, 3-b, 4-a 2.1-b,2-d, 3-a,4-c 3.1-c,2-a,3-d,4-b 4.1-a,2-c,3-d,4-b

ggrerfar fafrs IsaT 87 -
The specific heat of an objectis :

1. T T TgTeITd o1 100 3127 aTGaUaRITST STFTOTRY ST 3R,

[Is the amount of heat required to increase the temperature of that substance by 100° degree]

2. Ueheh RIS UGTeITd AR b 39T TG U AANUMRT SSOTCT 3R,

[Amount of heat required to increase the temperature of unit mass of that substance through one
degree]

3. Ut duH I fadeuTiaradd arefIuamardt aTRToTRY IsurdT 21T

[The heatrequired to increase the temperature of substence till it's melting point]
4.971g 29 3 [Option 2 & 3]

GTet! SeledT FRIRATS N IRATRAT 3TshH PIur ?

Frequency for following frequency notes

sa,re,ga,ma

1.346 Hz,312Hz, 280 Hz, 256 Hz 2.312Hz,346 Hz,384 Hz ,426 Hz
3.256 Hz,280Hz,312Hz, 346 Hz 4.480Hz,426 Hz,384 Hz, 346 Hz

AT ISHRIER AP &0 SR ThIC B SAI. JATT R0l gedieR UIg el JuT i Tarst dlged
ATEl IR B,

Millions of explosions are occurring on the sun at every instant. The rays of sun reach to the earth but
sound of thoes explosions could not. The reason behind this is

1. IhTSTTIT RT BT Ea~ 1T SNTTY & ST 3118 [The velocity of light is greater than velocity of sound]
2. It fmor € ficya gefha IR0l SR QT ARG HTedmr aeaehal <¥d  &aia
qRiFHUINTST HTeTMT Saadhdr 3RTd. JfadbImMed Fafd qided! 3RAd. [Light is an electromagnetic

radiation which does not need a medium to travel but sound needs medium to travel & there is vaccum
in outer space]

1.%ad 1 [only 1] 2.%dd 2 [only 2]

3.9319 19 2 [option 1 & 2] 4. gmdeh ATl [None of these]
THYTD TR STIBYRT ——————— At i ST

e FaRaqel affdl ———————— T SRT

Vocal chords are ------------ c.m.inlegth in male and about --------- c.m.infemale
1.15,20 2.10,15

3.10,20 4.20,15

~
9}
~



9.29

9.30

9.31

9.32

9.33

9. 34

9.35

9.36

TerGed Ao, 3 -sdl

Identify the element.

1. 2fe131 [Helium] 2. 43179 [Neon]
3. 3T [Argon] 4.9 [Xenon]

Tt T DIV fIGTEC Setar i aTg-THed] aTuRel S,

Which of the following cell is used in electric vehicles?

1. oS- 3T faee[aere [Lead-Acid cell] 2. PRSI fIGTee [Dry cell]
3. fetferm 311 faeiaree [Lithium ion cells] 4. gep1el fdegdec [Photo electric cell]

F. BT AT AT ———————— UL 3e%Eal S,
Dr. Homi Bhabha often referred to as -----------

1. YR Hiferes ITR=T S9a [Father of Indian Physics]

2. YR 3fRer HMER S [Father of Indian Space Program]
3. YRR 39 ARAT S [Father of Indian Medicine]

4. YR ATfET 591 [Father of Indian Literature]

TeTlel ST 9T6C JTToNdT.
Find the odd one out

1. LS [Ayurvedal] 2. giffranueft [Homeopathy]
3. 3feeft [Allopathy] 4. qefiersit [Pathology]

fSerean aiffona SeuTfea eites. p
Name the products of following reaction. '@ "
NERGY

1.9RR19, P& [Boron, Carbon] £33 % P

2. 9%km, fopeee [Barium, Krypton] N @ e E
3. siferam, foheei [Berrylium, Krypton] L Uzit?: 3 @';;B:
4. 9387M, HfERIT [Barium, Cadmium] ol

4

d3'n

NH, I ST ARIGIS g RIS AT HgSTT 3T febclt 2

Whatis the valency of Nitrogen and hydrogen respectively in NH,

1.3,3 2.1,3 3.1,1 4.3,1

AB’ IGICTa MY ——————— it eATaer

Blood group ‘AB’ was discovered by ----------

1. feprecal 1Mo ¥l [Decastello & Sturli] 2.3l Plel TISFCIR [Dr. Carl Landstiener]
3. FAfetan Mt [Cameleo Golgi] 4. 339 UIR [Luis Pasteur]

1. 1.g). T I Wit BiuredT dsiTf+is Fepou=raT 2Ne oATaelT ?

Whatis the phenomenon discovered by Dr. C.V. Raman called?
1. TSI 3TURHRUT [Dispersion of light]

2.3 gRUT [Raman effect]
3. Y1 39t [Refraction of light]
4. YSRITT =g+ YRUMA [Netonian effect of light]

(6)
\6}



9. 37

9. 38

9.39

9. 40

9. 41

g.42

9.43

BT AT Tl SRTdd R TIIEUTRATST hivrea] Aed e gref gt ? 3. -8t

Kalpana Chawla was selected for astronomical training in which of the following institute?

1.NASA 2.ISRO

3.DRDO 4. AIRFORCE

ST, UUTS. 3egel et g s HRard —————— J e &l
Dr.A.P.J. Abdul Kalam was the --------- " President of Republic of India.
1.10"a 10" 2.12" 112"

311" 1M 4.9"919"

Tl TeTdeh hIuTeT qREHRIAT ST, EIHT HTHT JHT TRIJuAT 311e.
Which of the following awards were won by Dr. Homi Bhabha.
l.ﬁ@w 1942 [Adams Prize 1942]

2. YcHYNUT 1954 [Padma Bhushan 1954]
3. thall 3T et RIS [Fellow of the Royal Society]
4. 30 99 [All of the above]

Tt TeThT v e g G e iearearedia 9 31 ?

Which of the following statement is true about Sunita Williams?

1. ARG FTe fGeTa AigeT 3iaRTwd R [She is the second woman astronaut of Indian origin]
2. T HigelT 3iaRISa R [Firstwoman Astronaut]

3. YR drt YeH Higel 3iaRTeod R [First woman Astronaut of Indian origin]

4. I AT [None of these]

Dicars—19 T FHAARIS! Tt IcTdh! DIvIT TR 3119e IcuTGe DU+ oRT YT Plael ?

Which of the following Indian Pharmaceutical company produced vaccines for Covid-19 irradication?

1. et [CIPLA] 2.81. 38! [Dr. Reddy]
3. Yasiel! [Patanjali] 4. R4 3Ry [Serum Institute]
TURT-TaT & 3MRapciiel JTTRTBATT SUINY U1 3TTR. AT U FATIAT —— — ———— it e,

Space-Xis an American space craft manufacturer company.
The company was founded by ----------

1. 319 73 [Elon-Musk] 2. FTeh gava [Mark Zukerberg]
3. ¥dIeg SI1ed [Steve Jobs] 4. 181 14 [Bill Gates]

QT fegrer 3Ry 19 SRTeied Hierel e ceiethiv ATe 31T WTefierieh! o ?

Twitter has changed its name to ---------

1.9eT [Meta] 2.9d [Subway]
3.7 [X] 4.9 [Thread)]

~
~
~



9. 44

9.45

Y. 46

9. 47

STUTIR 37aTe JHe ¢ el A a1g.

Inspire Award-manak is related to

1. Rreamef= fasmmn eI g HAMEATTEY BRISR PRUIATS! TIcATfRd ol

[To motivate students to study science and make their carrierin research]

2. XISTHRUTTCTET SATehTHT GREDT PRUGTATS

[To give award to the people in politics]

3. I fRreomATet Uged vt

[To motivate students for Higher Education]
4. 9R fac=neafHT qoeepe BRuATATSH

[To award the courageous student]

1.Option1,2,3 2.Option1&3
3.0ption 2,4 4.0nly 2

STTTfcreh ey Rl & dhegl AISIRT dhedl STl ?

World No-Tobacco day is celebrated on --------

1.10% &R [10” December] 2.31°9[31% May]
3. 28" thgart [28" February] 4.5"SF[5" June]

el waiaTy AR Ik Qe forar. 26118110

Find out the missing character 1197

from the given alternatives.
giv iv NVIE

1.6 2.5
3.4 4.2 10]517

YeARI-gTT ST AT T far 9me.

Find the missing character from each?
10 8 6
OO O]
8 6 4

1.8 2.6 3.12

ForQ.48 & 49

9. 48

9. 49

9.50

HIGb! guf .

Complete the series.

2,8,16,128,7

1.2056 2.2046 3.2048
-stt-tt-tts-

I.ttst 2.tsst 3. sstt
GTefler STehATfeTdha eliel HYedT divre Igat ?

Which number will come nextin the following series?

1,3,7,15,31,63,----—--
1.125 2.126 3.127

4.9

4.2042

4. tsts

4.139

3. -84l

~
o0
~




ForQ.51&52 3. -84l

fSelean SIS a9 Ha 3iedd g uaf foTar.

Having the same relation with this word as the given pair has, select the best alternative.

9.51 Court : Justice :: School : ?
1. Teacher 2. Student 3. Head master 4. Education
.52 3:243::5: 7
1.425 2.625 3.1225 4.3125
ForQ.53&54
P} T e,
Choose the one which is different from the rest three.
.53  1.126 2.217 3.345 4.513
.54  1.1975— 1579 2.3152 — 5321 3.8271— 8721 4.7319 — 9731
¥.55 U Al YT GOLD & HOME, COME & DONE 2Tfor CORD & DOSE 31T fetfgdTd a’ SONS &t
fergrer ?
If GOLD is coded as HOME, COME is coded as DONE and CORD is coded as DOSE. how would you
code SONS?
1.TOOT 2.TONT 3.TPOT 4.TOOS
U.56 SR RE N3 ferfaard, D&r T 3 fotfdard, 181U, O®1, E'TIR, TETO, UBT D, NET C 3ffor C &l E 31T
forfgard a) INTRODUCE &l 21eg 4T feTglet ?
IfRisdenoted by N.Disdenotedby T.1by U,Obyl,EbyR, Tby O, U byD, N by C and C by E then how
will the word INTRODUCE be written?
1.UCONIDTER 2.UCONTIDER 3.UCONITDER 4.UCOINTDER
¥.57 Ul Aibfad 9N MACHINE & 19-7-9-14-15-20-11 3RTT fe1faaTd Tk DANGER &1 &1 fotgret ?
1.11-7-20-16-11-24 2.13-7-20-9-11-25 3.13-7-20-10-11-25  4.10-7-20-13-11-24
¥.58  feoicun AT gamed |atd 99 e PiordT ?
Who s the tallestamong sixboys P, T, N, D, Qand R
1) P & D o1 N U8l 3 31Tg U T $clehT 99 ATal [P is taller than D and N but not as tall as T]
11) R T Q U&lT S 31Tg UvT T 3l S ATe! [Ris taller than Q but not as tall as T]
111) Q& T 3701 R gpT S A1RI [Qis not tallerthan Tand R]
1. %a 13T 11 [Only I and I1] 2. %< 1 37107 111 [Only T and I11]
3. %ad 1 30T 111 [Only I and I111] 4,599 1,11 I [ANl L, 11, II1]
U.59  12:00 ATATIRET 1:00 IToTRd SreTebTed QI e Heel i fehelt arota 154 2T 3r¥er ?

Atwhattime between 12 : 00 o’clock to 1 : 00 o’clock the two hands of that clock will form
anangle of 1 54°

1.12:30 2.12:29

3.12:28 4.12:27




9. 60

T foett aufel amR 2 3. -8
How old is Tanaya?
1) =TT &) 1T OerT 5 i 71t a1R. 3mepien &Y 26 aufd 3 T wsimier 3 auf g o,

[Pradnya is 5 years older than Tanaya. Aakanksha is 26 years old and she is 3 years younger than
Pradnya.]

1) fFeter < g ST garea 77 3iTe. I=T 8 SCUaT 4 aui- AIc 31g. Feler a7 10 ¥ a1rg.

[Nileshis half the age of Smriti. Tanaya is 4 years older than Smriti. Nilesh is 10 years old.]
1.32 2.14 3.29 4.24

ForQ.61t063

9. 61

9. 62

9. 63

St HTET S .

Study the diagram and answer the following.
foreft Sttt TopTar Aol Srfdlet 1R ?

How many cubes will have on face painted?

1.9 2.18 3.27 4.6

qd eTehel fehelt 3iTad 2

How many cubes are formed in all?
1.18 2.12 3.45 4.27

Tehg! dTo) A LMfdetel 8 fohelt ?

How many cubes will have no face painted at all?
1.12 2.67 3.18 4.27

For Q.64 to 66

Y. 64

Y. 65

Y. 66

FeIfrg 3T STl FiTd gidT HISAThS JTdT Il 65 IS 3Tad. ARG FTddl 75 SIS 3Med. had!
BT 89 TS 3. FHEC FTeddT 71 TS 3MTed. IT ATfedIa%e-T Wlettel TeAT=h Sca forgl.

Sadashiv has some trees on his field. One day he told his friend that he counted his trees and he
noticed that there are 65 trees except Mango 75 trees except Coconut. 89 trees except Bananas 71
trees exceptApples. Find out the answers of the following questions?

SATET T ST T e feheit 2
How many trees of mango are there?
1.25 2.1 3.29 4.35

st IT TSI =T fabett ?

How many trees of bananas are there?

1.29 2.35 3.1 4.25
ARG SIS A AT ARBIYET el ST fehal e 31Tg ?

How many trees of Apple is more than or less than coconut trees?

1. 119 %4t [Less by 11] 2.297 S [More by 29]

3.259 PHY [Less by 25] 4. 4 ST [More by 4]

ForQ.67to 69

et feiea aMgdid fohde SMasuR Wy agesH, WI-Wl WHUR Weblg B T gl WBUR Tl
TP qRAfdet 3Ted R Jeldl TR Ica .

In a following figure players from a circle who liked Cricket. Kho-Kho and hockey are shown
respectively by triangles and square. Numbers written in different sections of diagram indicate the
number of players belonging a particular. Observe a figure and answer the following questions.




9. 67

9. 68

9. 69

.70

g.71

9. 72

.73

Y. 74

.75

fepctt WeoTgHT fehehe arrared ? 3. -8

How many players like Cricket?
1.12 2.40 3.22 4.39 gl |

fepel} TWesTEAT forTe Wb arrereara ? [Hockey]

18

How many players like all three game 14 2\ 17

Cricket, Hockey, Kho-Kho? - 13 | 10 \ 11 fepdre
1.14 2.17 3.43 4.2 [Kho-Kho] [Cricket]
faet TIGBIGAT el QI TIab TSI ?

How many players like only any two game?
1.43 2.41 3.39 4.42

I Gf Qe 3TTehett guf &,

Complete the figure with correct alternatives.

1. 2. 3. 4.

?

Rigamef STFTeps 7 km T, TR G UfEHeDS 14 km T, T 1 aRIRIDS 7 km e JATI0T Qe Al Geps 4
ke AT 3TTO7 SfeetT. TR ot Femeted foepromaRyT febeft g3 3riet ?

Siddharth moves towards South-east a distance of 7 km. Then he moves towards West and travels a
distance of 14 km. From here he moves towards North-west of distance 7 km and finally he moves a
distance of 4 km towards East and stood at the point. How far is the starting point from where he stood?
1.17 2.18 3.7 4.10

I 3:25 o7 ITRAT foheft aTotet foddtar ?

What time will be shown in a mirror when a clock shows 3:25 O’clock?
1.3:25 2.8:35 3.7:35 4.9:40

ISTRICT 3TTghciiel fanet! FepIoT 3Ted 2

How many triangle are there?
1.12 2.18 3.20 4.27

R Tlepcicicl TRY Ieav IMeT, 6 | 15] 20

Find the missing letter? 81415
1.120 2.56 315120
3.51 4.12 51165 2

YQTRI-ETeT STRTT I U ASed o INeT ?

Which would replace the question mark?

%] [©] [H [
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e BERATS! ST [For Rough Work]

3. -84l




